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30T EGEO
2020
ECONOMIC GEOGRAPHY
Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions.
All questions are compulsory.
Total Questions : 31
Q. No. 1 to Q. No. 10 carry 1 mark each 1x10 = 10
Q. No. 11 to Q. No. 15 carry 2 marks each 2x5 =10
Q. No. 16 to Q. No. 23 carry 3 marks each 3x8 =24
Q. No. 24 to Q. No. 27 carry 6 marks each 6x4 = 24
Q. No. 28 to Q. No. 31 carry 8 marks each 8x4 = 32
Total =100
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Name one kharif crop produced in India. 1

wlgede Geofre «fdy Afdw =R i ot

Name one mining town of Assam. 1

o @3 AR fefes o A fer |

What is the position of India among the populous countries of the world ?
1

AT TR (PR foeTe ies B e ?

In which state Durgapur Iron and Steel plant is located ? 1

@ IETS FoisE -SRI St Fiere?

In which city of India the first modern cotton textile mill was established ?
1

SRS (A 52AS AN MR FAR) I I FloH I (e

Name one textile industrial belt of the USA. 1
SRS T8 @b T e Sro R J Rt

Write the name of the country, which has the longest railway network in
Asia. . 1

AR foege Tfos @@EPEN ITF T (PR AW fof |
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10.

11

a2

13

14.

In which place, the headquarters of North-East Frontier Railway is located ?
1

Tee-o7 MW [@@mea] Y e @ e w_iFe?
What is the position of India among the jute products exporting countries
of the world ? 1

TG 2]t Seslifte 7 I I (PIIRI WE© ©ReI TH [T ?

Name one major port of India. 1

OSB3 IS A feran |

Name fwo animal-based industries. 7

e v wiifde 7y Somtsi A B

Write two causes responsible for the development of Iron and Steel

industries in Japan. 2

G (-SRI Peprg ot 8om 7B e i

Name two major industrial belts of the world. 2
i 757 I P A B
Which two seas are connected by the Suez canal ? 2

PG ACE @I I A9 FL IR0R?
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15.

16.

17

18.

19.

20.

21.

Which two places are connected by the East-West Corridor ? 2

oR-+AfR5% Y@ AT @ T I A FReg?

Give three examples of economic activities of Primary sector. 3

AT T e FfiaR folsr Swae

Mention three advantages of tea cultivation in Sri Lanka. 3

qerare vz QST FREt ot AL JRat S 34|

Write three characteristics of Green Revolution. 3

crew fReke foksr @Mey e

Mention three favourable geographical conditions required for wheat
cultivation. 3

(@ RS IR s fOAn (Siefee syl SER 31|

Name three coffee producing states of India. 3

iR oz IfF SeoAmaaR! IER AN &)

Name three countries known for rubber industry. 3

<< e A Yo oAz oriR i ferait |

30T EGEO [4]



24,

26.

27.

Name three Iron and Steel industries of India. 3

SReAT oG -SSR Tt w fFR |

Name three major transport modes of India. 3
SR foRRY I« TeR [ B |
Write a note on the petrochemical industries of Assam. 6

ST (LG CTHITEE @9 o (B1s fora |

Write about the major problems of paper industries in India. 6

ORI FIoE SR A4 TIRRT Raw B |

Write a note on the development of Iron and Steel industries of China.

6
BINCHR E-ST Brteie Seeifes esiqe <51 Gt B |
Write a brief note on dairy farming, 6
TR SN €oS <6 53 (Gret foa |
Or/ gt

Write a note on the application of Information Technology in development
activities. 6

TR Fheee eYeyfe AR [REaw @bt Gt |
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28.

29

Classify economic activities. Discuss briefly the economic activities of

Secondary sector. 2+6=8

HYAfeT PR TiRierem 31 | ok 3fes seevR R stz w1
91|

Or/ a2

What is intensive subsistence agriculture ? Discuss the characteristics of
wet paddy cultivation in India. I+5mg

SR (T PN I I 2 ORI Y LINefoq (A8 et 41|

What is manufacturing industries ? Discuss briefly the factors of location
of industries. 2+6=8

fsfler e Some 2 SootR 2w R Sz RIw siie S 31|
Or/ 9t

What is an industrial region ? Write briefly about the major industrial
regions of the world. 2+6=8

Toam s R R [ ol wwe Raw s5ts B |

Write the advantages of water transport system. Discuss briefly the
importance of the river Brahmaputra as an inland water transport route.
4+4=8

TEsifRRee IR YRAPE 1 | el weteifRazel ) ottt e A0
&Y A 4|
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Or/ g%t

What do you understand by communication system ? Discuss the

importance of satellite communication system in present day context.
3+5=8

Qs I I B 3@ e Ao me Tsgr @S 9B 8w
FToATE SN 4 |

31. What role is played by the World Trade Organisation in international
trade ? Discuss why the ports and harbours are considered as the gateways
of international trade. 3+5=8

Ry Rl SEEies Afters & i e T W% (oo s
wiEeifes e ARl Rore o3t T WEAsa F40 |
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